
 

 

 

 

1. Find the compound interest on Rs. 20,000 at 12% p.a. for 6 months, compounded quarterly. 
20]000 : ij 112 çfr”kr okf’kZd pØòf) C;kt dh nj ls 6 ekg dk pØòf) C;kt crk,a ;fn C;kt dk la;kstu f=ekfld gSA 

(A) Rs. 1415   (B) Rs. 1096 

(C) Rs. 1218  (D) Rs. 13,212 

2. At what rate of interest will Rs. 12000 become Rs. 14520 after 2 year when interest is compounded annually? 

fdl nj ij 12]000 : 2 o’kZ esa 14]520 : gks tk,xk tc C;kt dk la;kstu okf’kZd gks\ 

(A) 8%    (B) 10% 

(C) 8.5%   (D) 9.5% 

3. On a sum of money, the difference between simple interest and compound interest for 2 year is Rs. 15.36 and the 

simple interest for 2 years is Rs. 384. 

,d /kujkf”k ij 2 o’kZ esa lk/kkj.k C;kt rFkk pØof̀) C;kt dk varj 15.36  : gS rFkk 2 o’kZ esa lk/kkj.k C;kt 384 : gS rks nj çfr”kr gS% 

(A) 6% p.a.   (B) 12% p.a. 

(C) 8% p.a.   (D) 16% p.a. 

4.  Find the compound interest on Rs. 2000 for 1
1

4
 years at 10% p.a., the interest being quarterly. 

2000 : ij 10 çfr”kr okf’kZd C;kt dh nj ij 1
1

4
 o’kZ esa pØòf) C;kt Kkr djsa tc C;kt dk la;kstu f=ekfld gksA 

(A) Rs. 2262.81  (B) Rs. 262.81 

(C) Rs. 262.18  (D) None of these 

5. Find the compound interest on Rs. 2000 at 5% per annum, compounded yearly for 2
1

2
 years. 

2000 : ij 5 çfr”kr okf’kZd pØo`f) C;kt dh nj ij 2
1

2
 o’kZ dk pØo`f) C;kt Kkr djsaA 

(A) Rs. 260.12  (B) Rs. 250.80 

(C) 240.12  (D) None of these 

6. A sum of money placed at compound interest thrice itself in 4 years. How many years will it amount to 27 times 

itself? 

,d /kujkf”k pØòf) C;kt ij 4 o’kksZa esa rhu xquk gks tkrh gS rks fdrus o’kZ esa ;g /kujkf”k Lo;a dk 27 xquk gks tk,xh\ 

(A) 12 years  (B) 15 years 

(C) 14 years   (D) 10 years 

7. The compound interest on a certain sum for 2 years is Rs. 60.60 and simple interest is Rs 60. Find the rate of 

interest p.a. and the sum. 

fdlh fuf”pr /kujkf”k ij 2 o’kZ esa pØo`f) C;kt 60.60  : gS rFkk lk/kkj.k C;kt 60 : gS rks nj çfr”kr rFkk og jkf”k gS 

(A) 2%, Rs. 1600 (B) 2%, Rs. 1500 

(C) 2%, Rs. 1400 (D) None of these 

8. A sum of Rs. 3,200 invested at 10% p.a. compounded quarterly amounts to Rs. 3,362. Compute the time period. 

3200 : dh jkf”k 10 çfr”kr okf’kZd nj ij =Sekfld vk/kkj ij pØo`f) C;kt ij fuos”k djus ij 3]362 : gks tkrh gS rks fuos”k dh vof/k 

gS 

(A) 1/2 year  (B) 1 year 

(C) 2 year  (D) 3/4 year 

9.    Second year compound interest is Rs. 63. If rate of interest is 16
2

3
% p.a. find the principal amount. 

fdlh /kujkf”k ij nwljs o’kZ dk pØo`f) C;kt 63 : gS rFkk C;kt dh nj 16
2

3
% okf’kZd gSA /kujkf”k Kkr djksA 

(A) 318   (B) 324 

(C) 300   (D) 342 

10. Second year compound interest is Rs. 420. If rate of interest is 12% p.a. find the principal amount. 

DRONACHARYA ACADEMY 

(WAY TO SUCCESS)    MOCK-1 



fdlh /kujkf”k ij nwljs o’kZ dk pØo`f) C;kt 420 : gSA ;fn C;kt dh nj 12 çfr”kr okf’kZd ns; gks rks /kujkf”k Kkr djksA 

(A) 3000  (B) 2875 

(C) 3125  (D) 3525 

 

Q. 1 4:00 बजने से पहले दसूरी बार समकोण ककतने बजे बनेगा? 

At what time will the second time be at right angles before 4:00 o'clock? 

 1) आकडे अधूरे है | 2) नही बनेगा  

 3) 3:00 बजे  4) इनमे से कोई नही  

 

Q.2 4:00 बजने से पहले घंटे और ममनट की सुई या एक दसूरे के सम्पाती ककतने बजे होंगी? 

At what time will the hour and minute hands coincide or coincide with each other before 4:00? 

 1) 3 बजकर 16 4/11 ममनट 2) 3 बजकर 15 ममनट 3) 3 बजकर 16 ममनट 4) 3 बजकर 15 4/11 ममनट 
 

Q.3 ,d ?kMh esa 11 ctdj 20 feuV gqvk gS crk;as fd niZ.k izfrfcEc eas ;g D;k le; n”kkZ;sxh\ 

It is 11.20 minutes in a clock, tell what time will it show in the mirror image? 

 1) 1:40  2) 11:40  

3) 12:40 4) 6:05 

 

Q.4 ,d ?kMh esa 9 ctdj 45 feuV gqvk gS crk, fd ?kaVs vkSj feuV ds chp fdrus va”k dk dks.k gksxk\ 

It is 9:45 minutes in a clock, what is the degree of angle between the hour and the minute hand? 

1) 150⁰       2) 120⁰    

3) 132.5⁰ 4) 22.5⁰ 
 

Q.5 ,d ?kMh esa 5 ctdj 45 feuV gqvk gS crk, fd feuV vkSj ?kaVs dh lwbZ ds e/; fdrus va”k dk dks.k gksxk\ 

In a clock it is 5 o'clock 45 minutes, what is the angle between the minute hand and the hour hand? 

 1) 112.5⁰ 2) 97.5⁰     

3) 110.5⁰ 4) 95.5⁰ 

 


